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Input format

7} 9o wele ohg YAl meck:

e linel: n
e linel+i(forl <i<mn): z[i| yli

Output format

7} 23 el e thg FAL uetobt gk

e linel: k
e linel+j(forl <j<k: sz[j] sy[j]
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Testcases 01 02 03 04 05 06 07-10
n 20 600 5000 50000 72018 91891 100000
¢l 50 1200 10000 100000 144036 183782 200000
e 45 937 7607 75336 108430 138292 150475
cs 40 674 5213 50671 72824 92801 100949
e 37 651 5125 50359 72446 92371 100500
cs 35 640 5081 50203 72257 92156 100275
cs 33 628 5037 50047 72067 91941 100050
cr 28 616 5020 50025 72044 91918 100027
cs 26 610 5012 50014 72033 91906 100015
co 25 607 5008 50009 72027 91900 100009
c1o 23 603 5003 50003 72021 91894 100003

Visualizer

python vis.py [input file]
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python vis.py [input file] --solution [output file]

Example:

python vis.py examples/00.in --solution examples/00.out
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